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INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer

(A, B, C, D) to each guestion. Choose the correct answer (one only) for each question and mark it on

the Optical Response Sheet (ORS).

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

questions etc. If so, get it replaced with another question paper.

6. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

7. One (1) mark will be awarded for each correct answer and minus one by three (—%) mark for each

o wbd

incorrect answer. The unanswered questions will not attract negative marks.

8. Return the ORS to the invigilator after the examination is over.

9. Candidate is allowed to take away question paper after the examination.

10. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

11. Use of unfair means in examination will lead to cancellation of candidature.
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(Objective type questions)
UHR & )

Each question carries 1 mark

TISH UY P 13fF 8

Note: Read the passage below and answer question numbers 1 & 2:

I went often to look at the collection of curiosities in Heidelberg Castle, and one day |
surprised the keeper of it with my German. I spoke entirely in that language. He was greatly
interested; and after | had talked a while, he said my German was very rare, possibly a
“unique;” and wanted to add it to his museum. If he had known what it had cost me to acquire
my art, he would also have known that it would break any collector to buy it. Harris and |
had been hard at work on our German during several weeks at that time, and although we
had made good progress, it had been accomplished under great difficulty and annoyance, for
three of our teachers had died in the meantime. A person who has not studied German can
form no idea of what a perplexing language it is. Surely there is not another language that is
so slipshod and system less, and so slippery and elusive to the grasp.

1. Whom did the author surprise with his German?

The curiosity owner
The keeper of the castle
Himself

o w >

His friend Harris

2. Find a word in the passage that means “done without care”

A. Dem
B. Blacksmith
C. Slipshod
D. Elusive
3. Rama lives in a hostel.
A. Dboy’s
B. boys’
C. boys
D. boys’s
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4.  Unfortunately, my trip to Indonesia because I couldn’t save enough money.

A. wash away
B. turnup
C. fell through
D. tryout

5 Ifcos9a =sina and 9a < % then the value of tan 5« is

O 0O wmw >
OHé‘le

6.  If the angle between two radii of a circle is 110°, then the angle between the tangents

at the end of the radii is

A. 90°
B. 50°
C. 70°
D. 40°

7. Abag has 5 white marbles, 8 red marbles and 4 purple marbles. If we take a marble

randomly, then what is the probability of not getting the purple marble?

A. 05

B. 0.66
C. 0.08
D. 0.77
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8.  Who among the following was the First Indian Cricketer to bag 500 wickets in Test

matches?
A.  Kapil Dev
B. Javagal Srinath
C.  Anil Kumble
D. Harbhajan Singh

9.  Which of the following was the contemporary of both Buddha and Mahavira?

10. The idea of Lokpal is taken from

o w >

oo w»

Bimbisara
Ashoka
Chadragupta Maurya

Bindusara

Britain
America
Scandinavian Countries

France

11. Vitamin C deficiency can cause

oo w >

Cheilosis
Scurvy
Rickets

Pellagra
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12. A nurse plans to send the sputum of a person for testing for TB. The best time to take

the sample is
A.  after breakfast
B. early morning
C. afternoon
D. before sleeping at bedtime

13. In quarantine act, a person should be detained after the contact with infectious person

for
A. incubation period of the disease
B.  twice the incubation period of the disease
C. half the incubation period of the disease
D. atleast 7 days

14. Rice water stool is characteristic finding in

A. Diarrhea
B. Typhoid
C. Malaria
D. Cholera

15. Drug class used for inhibiting cough reflex is called

Antidotes
Antispasmodic

Antitussives

oo w»

Antipruritic
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16. Most abundant ion in the extracellular fluid is

A. Potassium
B. Sodium

C. Calcium

D. Magnesium

17.  'Who among the following is at the maximum risk of fluid and electrolyte imbalance?

A 35-year-old female
A 55-year-old male
A 6-month-old baby

An adolescent girl

o o w >

18. A nurse is administering a medication through injection at 15-degree angle. A junior

nurse is observing her and understood that the injection is administered as

A. Intramuscular
B.  Subcutaneous
C. Intravenous
D. Intradermal

19. A patient’s serum potassium is 2.2 mEq/L. The doctor prescribed injection KCl for his

treatment. The best way a nurse can administer the injection is

IV bolus dose
IV infusion

slow IV over 5 min

oo w»

intramuscular
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20. You are adviced by the doctor to start a medication through a microdrip set. How many

micro-drops will constitute 1 ml of fluid?

A. 15drops
B. 30drops
C. 45drops
D. 60 drops

21. Recommended rate of chest compressions during CPR in an adult patient is

80-90 per minute
100-120 per minute
130-150 per minute
350 per minute

o o w >

22. Most common type of shock in trauma patients is

A. cardiogenic shock
B.  hypovolemic shock
C.  obstructive shock

D. septic shock

23. After nasogastric tube placement, a nurse aspirates the contents and checks the pH of
the aspirate. Which if the following pH confirms that the tube is in stomach?

A. pHof4
B. pHof7
C. pHof8
D. pHof10
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24.

25.

26.

27.

A young male collapsed in the park when you were around. You want to determine if

he is in cardiac arrest. Which pulse will you check for evaluation?

o0 ®»

Radial
Brachial
Femoral
Carotid

The term alopecia means

o0 ®»

loss of appetite
loss of weight
loss of hair

body swelling

The caliber of pink IV cannula is

Colour coding for 16 French foley’s catheter is

o0 ®»

oo w»

16G
18G
20G
22G

white
red
orange

green
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28.

29.

30.

31.

Which of the following is an absorbable suture material?

oo w >

Nylon
Catgut
Silk

Dacron

The action of mydriatic drugs is to

o w >

If a patient has a BP of 120/90, what is the pulse pressure?

oo w»

The right method of assessing the surface temperature of a patient is using

oo w»

dilate the pupils

constrict the pupils

no effect on pupils

sometimes dilate sometimes constrict the pupils

30 mmHg
100 mmHg
120 mmHg
90 mmHg

dorsal surface of the hand
ventral surface of the hand
lateral border of the hand

tips of the finger
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32. Which of the following is not a vital sign?

A. temperature
B.  oxygen saturation on pulse oximetry
C. blood pressure

D. consciousness

33.  Which of the following most accurately describes bradycardia in an adult patient?

pulse rate between 60 / min and 80 / min
pulse rate between 90 / min and 110 / min

pulse rate > 120 /min

OO0 ®»

pulse rate < 60 / min

34. A patient is brought to the emergency after road traffic crash. Best method to maintain

open airway in this patient is

A.  head-tilt and chin lift
B.  jaw thrust

C.  recovery position

D. Trendelenberg position

35. Nitroglycerin (NTG) is to be started as a continuous infusion of 10 microgram/min in
a 60 kg adult patient. You prepare the infusion solution by mixing 50 mg NTG in NS
to make a 50 ml solution. What should be the hourly rate of infusion to achieve the

desired dose of infusion?

A. 6 ml/hr

B. 0.6 ml/hr
C. 60 ml/hr
D. 10 ml/hr
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36. A patient is prescribed maintenance fluid at the rate of 60 ml/hr. You start the fluid

therapy using an adult drip set. What should be the number of drops per minute to

achieve the desired rate of fluid infusion?

o w >

60 drops per minute
15 drops per minute
10 drops per minute

20 drops per minute

37. How much energy is produced after metabolism of 1 g of fat?

o w >

4 Cal
9 Cal
37 Cal
3.7 Cal

38. The ability to maintain a constant internal environment is known as

oo w»

Hemostasis
Homeostasis
Hemopoiesis

Hemetemesis

39. You are asked to check the oral temperature of a patient in your ward. Which of the

following is the best instruction that you would give the patient to obtain the correct

reading?
A. Place the bulb of the thermometer on the tongue
B.  Place the stem of the thermometer on the tongue
C.  Place the bulb of the thermometer under the tongue
D. Place the bulb of the thermometer against buccal mucosa
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40. While measuring the BP of a patient using auscultatory method, the diastolic BP
corresponds to

4" phase of Korotkoff’s sounds
3" phase of Korotkoff’s sounds
51 phase of Korotkoff’s sounds

o o w >

1% phase of Korotkoff’s sounds
41. Most appropriate specimen to be taken for urinalysis is
fore-stream urine sample

mid-stream urine sample

hind-stream urine sample

o o w >

all of the urine in one attempt

42. The pattern of fever where it reaches normal temperature at regular interval

is
A. continuous fever
B. remittent fever
C. factitious fever
D. intermittent fever

43. Normal range of serum sodium is

105-115 mEq/L
115-125 mEq/L
125-135 mEq/L
135-145 mEq/L

o w >
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44,

45.

46.

47.

48.

On obtaining a 12-lead ECG, ‘P wave’ denotes

oo w >

atrial depolarization
atrial repolarization
ventricular depolarization

ventricular repolarization

Overstimulation of medulla oblongata causes

o o w >

Which of the following suggests metabolic acidosis?

oo w»

respiratory alkalosis
metabolic alkalosis
respiratory acidosis

metabolic acidosis

High bicarbonate, high pCO-
High bicarbonate, low pCO.
Low bicarbonate, high pCO>

Low bicarbonate, low pCO>

Which of the following is not an isotonic solution?

o w >

Healthcare associated infection is acquired by the patient after

o w >

0.9% saline
Ringer’s lactate
DNS (5% dextrose in 0.9% saline)

10% dextrose

24 hours of hospitalisation
48 hours of hospitalisation
72 hours of hospitalisation

96 hours of hospitalisation
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49. Doctor prescribed a drug with a frequency Q4h. How many times should that drug be

administered in a day?

A. 4times
B. 6times
C. 2times
D. 8times

50. Doctor prescribes tab. Paracetamol as PRN. The nurse should give the tablet to the

patient

A. each morning

B. incase of an emergency
C. whenever needed

D. after asking the doctor
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